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G OBJECTIVE A R

NOTE: | You have four choices for each objective type question as A, B, C and D . The choice which
e you think is correct, fill that circle in front of that question number. Use marker or pen to fill
2ea% | the circles. Cutting or filling two or more circles will result in zero marks in that question.
QUESTION NO. 1 ' Dok —)-2b
1 | Factorial form of (n+1) (n) (n-1) is
(n+1)! L (n—2)! (n+1)! n!
(A) (n-2)! (B) (n+1)! (€ n! (D) (n+1)!
b IR S B o N B o O—
P{A} 4i (B) 8i (C) 6i (D) 10
3 |Value of Sin’m/4+ oS’/ 4= womemeeeeee \ e
1 T~ Y
(A) O (B) -1 (C) 1 (D) i 5 0
4 | Sec(m/2-0)= - { e N s
(A) -sec@ (B) - cosec 8 (C) sec@ (D) ;\,o}gé\.-t’?
5 | Period of cosec x is ~---=-r-=reneemeamv e N/
(A) 2 (B) (C) 3m (D) n’{ZK\ )
6 | Radius of escribed circle opposite to vertex A of\t__['_i'anglé.i’s e
(a) 2 B © = (0=
7 |Cosx= % , thenx = <comeeeeen Vi
(A) m/6  (B) /4 (C) m/3 (D) /2
8 | Sin(Cos™3/2)=
Wr/6 @®w/3 (0 F | (oL
9 | 1isnot ------------ number PR _
(A) Odd (B) Real € Prite; (D Rational
10 | Multiplicative inverse of complex nu ber\o,’l}"
' (A) (0,-1) (B) (-1,0) 7 [C1(1,0) (D) (0,1)
11 | Set G is closed and associative with respect toibinary bperation, then set G is called
(A) Groupoid  (B) Semi-Group “-._{€) Monbid (D) Group
12 | Disjunction of two statements p and g, is
(A) pA g () pvq /{(:?)p—}q (D)peq
13 | Tabular formof {x |x E NAXH#4=0} is
(A) { ) (B) (0} gmy (€) {-4) (D) {0,4)
14 | A square matrix A is syfnrAetricif A' =
(A) A (B AN Nl () A (D) -A
15 | If order of matrix, A is/Zx'5 and order of B is 5x7, then order of AB is -------------
(A) 5x2 (B) 7x G\ \/’f (C) 7x2 (D) 2x7
16 | a, f _arefroots of__,zijkj-}h 0, then o+ [ g —
(A) 8 (B)C&(-~~»gf"-~~ Yoo 2 (D) 2
17 | If w iscube root o \yhity,:th}:n (14 W+ @) = -
(A) @ (B) ™" (0 (D) 1
18 22 = L+—B— , then value of B is
x<—1 x—1 Xx+1
(A) 1 (8) -1 (C} 2 (D) -2
19 | Sum the series 14 — + —m 4 ceceeeeeees
10 100
(A) 10 (B) 9 (C) 9/10 (D) 199
20 | 5" term of sequence whose general termis a, =n + (-1)" is
' g (B) -4 (€) 5 (D) -5
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SECTION-I % V)2
QUESTION NO. 2 Write short answers any Eight (8) of the following 16
i | Simplify (7,9)+ (3, -5) «
ii | Find the multiplicative inverse of (-4 ,7)
iii |Vz€C, prove that z.Z= | z |
iv | Simplify ’i‘lo
v | Write the power setof {9, 11}
vi | Construct the truth table for (p A~ p) = q
vii e ; .f[x+3 1 ]h[Z 1]
indx and y i 3 3y_4-_3 2
viii | If A and B are square matrices of the same order, then explain why in general
(A+B)? # A%+ 2AB + B’
b § B
iX | Without expansion showthat |3 4 5|/ =0
2 3 4
X | Solve the equation x-2x-899 =0 by completing the square _
Xi |Evaluate @w®+w”+1 ;
xii | Find the condition that one root of equation x° + px -+ q = 0 is double the other. |
QUESTION NO. 3 Write short answers any Eight (8) of the following i 16
i | Define an identity
i 6x3+5x%-7
Change ——5———— into proper fraction
2x=—x—1
iii | Find the nexttwoterms 1,3,7,15,31, —==—-
iv | If a,3=2n-5, find the nth tefim of the.sequence
V | Show that the reciprocals af théterms of the geometric sequence a,, alrz, a1r4, R {0141
another geometric sequence
vi | Find AMbetweén x -3 and x+5
vii | Find the valuelef h when "P, : "'P; = 9:1 .
2 1
Vill | Find the value of n when "Cyp = _ ;ll !
ix | Determine the probability of getting 2 heads and 2 tails when a coin is tossed four times
-1
X |prove 1+4+47+-——-—-+(3n—2)= PB—Z—)
Xi | Calculate by means of Binomial theorem (0.97)
Xii | Expand (8- 5:r<)'2‘}3 up to four terms.
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QUEST ION NO. 4 erte short answers any Nine (9) of the followmg - 18

If ta nd = 1—85~ and terminal arm of the angle is in the III quadrant, find the value of sin@and cosd

Prove that sec’#- cosec’#= tan’6- cot’d

If a,f ,y areanglesof atriangle ABC, Prove that tan{a + f)+tany =0

iv | Find value of sec 75°, without using tables
v | Prove that ¢os 20° + cos 100° + cos 140° = 0
vi | write the domain and rangeof y=tanx
vii | Find the period of cosec 10x
viii | Draw the graph of y = sin 2; for 0< x<2m
ix | Find the smallest angle of the triangle ABC, when a = 37.34,b=3.24,c=35.06
X | Find area of triangle ABC, if a=18, b=24,¢c=30
Xi | Provethat rriryry=A’
. : 14 24
Xl | without using calculator , show that 2 COS . 5= =sin™ =
xiii | Find the solution of equation cosec =2 which lies in [0, 2T]
SECTION-II
Note: Attempt any Three questions from this section 10x3 =30
Q.5- (A) | For what values of m, will the roots of the equation;
X2 -2(1+3m)x + 7 (3 + 2m)= 0 be equal
(B) | Solve _the system linear equations by Ceamer’s Rule
2x,: RN + X3 = 8
W + 2x; +2x3 = 6
x; - 2%y -x3 =1
s 1
Q.6- (A) - lve into partial fragtions -
Resolve into partial iragtions (1-27) (1 bx) (1-x)
: 8 3
(B) | y= -—x & x + — x> + - and if O <x< — , then show that x =
27 2(1+y)

Q.7-(A) | prove that BC,+ "Cy="C,

(B) If % is so small that its square and higher powers can be neglected, show that

1—x 1 3
~ zx

x/l-!-x

Q.8-(A) | show that cos 20° cos 40° cos 80° =

0|

- 1 :
(B) By using. A= s be sin @ drive the Hero’s formula

Q-9'(A_] | if cotf= g- and the terminal arm of the angle is in the I quad,

3 sind+ 4 cosd
cos@ -siné

find the value of

1 T

4

(B) | prove that 2tan —+ta ;71' =
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